CONSORT diagram showing enrollment, randomization, and analysis

Assessed for eligibility

Excluded n =125

drunk during interview n=1)

. n =233 Did not meet inclusion criteria n =93
S (Diagnosis n=22, readmission n=22, discharge before interview
I - -
£ n=13, voluntary (coercive) measure n=12, language barrier n=11,
g * continuation of severe symptoms n=9, measure not recalled n=4)
] Included Refused to participate n =32
n=108
I
Randomized Excluded from randomization n =81
n=27 Did not meet inclusion criteria for randomization n =81
(Preference of only one intervention by patient or doctor)

5 [
IS
g v v v v
< Allocated to seclusion n = 12 Allocated to mechanical restraint Allocated to seclusion n = 52 Allocated to mechanical restraint

Received intervention n = 12 n =15 Received intervention n = 52 n =29

Did not receive intervention n = 0 Received intervention n = 15 Did not receive intervention n = 0 Received intervention n = 29

Did not receive intervention n =0 Did not receive intervention n =0

K Analysed n =12 Analysed n =14 Analysed n =48 Analysed n =28
2 Excluded from analysis n =0 Excluded from analysis n =1 Excluded from analysis n =4 Excluded from analysis n =1
[S (Withdrawal of consent n=1) (Withdrawal of consent n=3, (Continuation of severe
<

symptoms n=1)




